160x200 B 0 G N E R Art. nr.: 20660011/02,

AT | H4

EL/ER|

© I

Y e

=

=) =
M6x20 |2005*205*94mm 30722"30mm(530*22"15mn| \[8x 24 | M8x50

4 10 | 40 1

=
©
X
—
o

Ojco

12
R
-~
' Sk

ers0rz2mm | T80T ) somm | MBXT7O | 7t1ssem | MEX40 | MEx12 | M6 [20x35mm
6 4 2 10 |1/1] 8 8 8 4

— Dimension Elements | Quantity
Length [cm]|Width [cm] | Height [cm] inside [pcs]
1 183 14 109 1 1
2 210 44 28 2+3+4D+M+0 11
3 197 44 11 4 1
4 2 N
5 4 QL+QR 2

Ver.03-08.10.2021. 1/6



2/6

Ver.03-08.10.2021.


Korisnik
Oval

Korisnik
Oval

Korisnik
Oval

Korisnik
Oval

Korisnik
Oval

Korisnik
Line

Korisnik
Line

Korisnik
Line

Korisnik
Line

Korisnik
Line


Ver.03-08.10.2021. 3/6


Korisnik
Line

Korisnik
Line

Korisnik
Line

Korisnik
Rectangle

Korisnik
Line

Korisnik
Rectangle

Korisnik
Rectangle


530*22*30mm

J
H4 2pcsI ( 6pcs
50*22*15mm M8x24

M / 6pcs

787*50*22mm

N | 4pcs

785*1000mm

. . ' / <
4
y 0200 cm

/ va <5KG /8
/// /

O / 2pcs

1500*40*40mm

P 10pcs

i

M6x70

Ver.03-08.10.2021.

4/6



Korisnik
Rectangle

Korisnik
Rectangle

Korisnik
Oval

Korisnik
Typewritten Text
1/4


Ver.03-08.10.2021.

5/6




Uputstvo za montazu
Assembly instructions
Montageanleitungen

Navodila za montazo

Ver.03-08.10.2021. 6/6





